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1. Divide 15.6 by 6  2. Divide 55.38 by 39  Q3. Work out 343.28 ÷ 56 

Correct answer: 2.6  Correct answer: 1.42  Correct answer: 6.13 

    2 . 6       1 . 4 2      6 . 1 3 

  6 1 5 . 36    3 9 5 5 . 3 8  5 6 3 4 3 . 2 8 

            3 9       3 3 6    

            1 6  3       7  2  

            1 5  6       5  6  

             7  8       1  6 8 

             7  8       1  6 8 

             0  0       0  0 0 

 

4. £315.35 divided by 17  5. 63.7m divided by 26  6. 157.6 miles divided by 
16 litres 

Correct answer: £18.55  Correct answer: 2.45 m  Correct answer:  = 9.85 
miles/litre 

   1 8 . 5 5      2 . 4 5      9 . 8 5 

1 7 3 1 5 . 3 5   2 6 6 3 . 7 0  1 6 1 5 7 . 6 0 

  1 7         5 2       1 4 4    

  1 4 5        1 1  7      1 3  6  

  1 3 6        1 0  4      1 2  8  

   9 3         1  3 0        8 0 

   8 5         1  3 0        8 0 

    8  5       0  0 0        0 0 

    8  5                    

    0  0                    

 

 


